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I will also include 1297 which is 57197 elsewhere, — 7m=2 Bpa P
so it should be 7217 here. However, the 7w 78 are 2''v2 P1p

OVERVIEW

X117 27 maintains that we can derive that 797 is 7132 from a MW 7% of 70>
qow and 7R, who are Xnabya 1P (outside w1T°P) and are also a valid
method of PP, similarly 797 which 1s 712 elsewhere (it makes 7X1w°1)
should also be an effective w17°p. The X0 refutes this mwn 7%, for they are
all 2"y anp (elsewhere),1 while 79117 1s not 11p (elsewhere) 5"va.? Our
moon will show that there is no case of 3"v2 o3m.

mooIn anticipates a difficulty:
— N5 Y¥a NDINY NIVPN INA TDINY 29 DY GN)

And even though the father can deliver his minor daughter to 72w

against her will. We find that 7917 is also 2"v2a (X19v2) Anp, how does the X3 refute
the mw:n 737!

mooin replies:
— 199 Yya 25YN KY IXP 1N DIPNAT

Since the father takes the place of his daughter concerning 71911, therefore
it is not considered >"'¥2.

mooIN asks:
— NVIY PRIV INY 7Y 1IN ya NN NINHYN NN 99NN ON)

And if you will say; we can still find a case of 3"y2 1515 for since TW°

does not create PRI (it only creates POIMR) -
—*anT In99 5Y NDINY PINRN DD TIPS INRY N¥NIN

So it turns out that after the 7vv°, the master can bring her into ;727
against the will of the father. We therefore have a case of (xn7v2) 2"va 0.

Mo0IN answers:

! Aod is 2"'va 712y AnRa AP (as explained in 19w 7"7 '01n), W is 2"¥2 wIan and AR is 2"¥2 120 Anp.
These >"va are all xnva (not by [regular] 1"217°p). Most commentaries understand that according to m»oin
there is no need to have the 5"v2 by ®12¥2 (as *"w1 maintains). See 2"¥ X9X 77"72 (2% A7) MW >N

2 The 7o 1P elsewhere is PRI, and 7PRW°1 must be TWRT NYTH.

3 See 1w "7 X7 MDON.

* The xnova 2"va of no> (in the mw: 7%) is that the master can be T¥»» her IR W 3"va (see previous
footnote), the same 3"y2 should also apply to the ensuing ;1937.
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And one can say; that even though the 7" can be performed >"¥3 of the

father, nevertheless the 7997 needs to be done with the father’s consent.’
Therefore there is no case of 2"va (Xn7y2) 79117.

SUMMARY

There can be no 3"va 7917. If the father delivers her to the 7917 it is with his
consent. Similarly the 797 which follows Ty must also be with the father’s
consent (as opposed to the 73 which can be 2& 5w 5"v2).

THINKING IT OVER
Why is there a difference between the 73° of an 7nX (that it can be Hw 2"va
aX), and the 79117 of an 7R (that it must be 287 mz'm)?6

> See “Thinking it over’.
% See *"va.
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